ZESNY

hi-shear

CORPORATION

LISI AEROSPACE - Please refer to Central Documentation Website to check validity

2600 SKYPARK DRIVE
TORRANCE. CALIFORNIA 90509
ARega CODE 213 - 775-3181 + 326-8110

SECONDARY

Py

st
work RUCTURE PROTRUSION
| - (REF.)
GRIP+3) & .010 o CLEARAS NCE mUIRED BLIND NUT
r‘ ASSEMBLY
GUN )
"l(asr.)- t MANDREL | ‘
f _____ - T . OrRESEG© \\\\\\\\%\,// ey
A \% D. DIA
LS | >~ B “‘ - 35%%&&2 -7
: Ho _ it / n’é’”////////
; H EHTIHITIINY 4
r 005 EXPANDER INSTALLED
005 L LOCKING FEATURE BOLT
OPTIONAL \
k— D DIA. SLEEVE L_ _J/- onk
W
sieeve EXPANDER
+ 024(REF.) SLEEVE AND EXPANDER ASSEMBLED COMPLETED BLIND NUT ASSEMBLY
ON MANDREL, INSERTED INTO WORK, SHOWING SECONDARY STrUCTURE
READY TO SET. AND INSTALLED BOLT
BN537 BNS02 HOLE PIOAIE;J;‘ION
BLIND NUT 02 SLEEVE BB414 EXPANDER
ASSEMBLY PREPARATION INSTALLATION
FIRST FIRST A oue o o D PART D1 L THREAD 5 P s P
DASH DASH DIA. RANGE RANGE | RANGE DIA. NUMBER DIA. HOLE DIA. '
NUMBER NUMBER 0-% KA 1%-1% DiA.
278 . 222
-632 w63z | 278 | 280 218 BB414-632 .217 | .610 | 6-32UNC-3B B+.620 .285 | .655
273 .216 .219
317 . .264
-832 832 gi; .315 | .330 ;g; BB414-832 255 | .650 | 8-32UNC-3B oag [Bros0 .335 | .695
1024 372 312 BB414-1024 .830 | 10-24UNC-3B 319 |B*.840 870
1032 1032 ) Tggp | -380 | 420 ) 460 ) 450 BB414-1032 -39 719 | 10-32UNF-3B .313 [BF.730 40 g
-420 450 .390 BB414-420 .980 | 1/4-20UNC-3B .397 [B+.990 1.030
- 383 .510
428 428 | 4y | 450 | 450 ) 4504 agp BBAI4-12 383 1950 | 1/4-28UNF-3B .391 [B¥.960 510 137500
518 528 | .468 BB414-518 1.100 | 5/16-18UNC-3B 477 |[B+1.110) 1.140
524 524 | 5gg | 800 | .00 | 500 1 s BB414-14 +458 17 010 | 5/16-24UNF-3B 469 [B1.020 -800 15 5050
“616 590 | __ 530 BB414-616 1.170 | 3/8-16UNC-3B 539 |BL.180 1.210
624 <624 | 5g5 | +550 | -580 | 550 | goy BB414-16 -521 17070 | 3/8-24UNF-3B 531 |B+1.080 -662 19 110

BN502 SLEEVE

NOTE:

MATERIAL:

HEAT TREAT:
FINISH:

CODE:

EXAMPLE:

Concentricity: Hole to '"D" diameter within . 005 TIR;
"D" diameter to head within . 005 TIR.

Type A~286 meeting composition limits of the AMS
specifications.

Heat treated to meet the requirements of AMS5736
Sandblast.

First dash number indicates size of bolt to be used.
Second dash number indicates grip length (thickness

of work) in 16ths.

BN502-624-12 = Sleeve for 3/8-24 or 3/8-16 bolt,

3/4 grip length.

BB414 EXPANDER

NOTE:

MATERIAL:

HEAT TREAT:

FINISH:

CODE:

EXAMPLE:

Threads per MIL-S-7742.
A-286 alloy per AMS5731.
110,000 psi shear minimum.

BB414 =
BB414G =

Solid film lube (Electrofilm #77-8).
Silver plate per AMS2410.

Dash number indicates size of expander used in assembly.
Letters "LK'" after part number indicate expander with
locking feature, Letter "G" indicates silver plate,

BB414-16 =
BB414GLEK-16 =

Expander for 3/8-24 bolt,
Expander with silver plate and locking
feature for 3/8-24 bolt.

EB414-616 = Expander for 3/8-16 bolt.

BN537 BLIND NUT ASSEMBLY

CODE:

EXAMPLE:

First dash number indicates size of bolt to be used.
Second dash number indicates grip length (thickness
of work) in 16ths.

BN537-624-12
3/4 Grip Length
For 3/8-24 Bolt
Blind Nut Assembly which includes:
BN502 Sleeve and BB414 Expander
BN537LK-624-12: As above except with locking
type expander.

"Blind Nut" is a trademark of Hi-Shear Corporation.

TITLE

BLIND NUT ASSEMBLY
100° COUNTERSUNK SHALLOW HEAD

DRAWN

‘;%/ 19-12-47

DOME TY™E
DATC DATE| DRAWING NUMBER
D.P.S.

;ﬁ} ok :I Cj; 9-21-89 Bﬂ53?

2-1012

CODE IDENTIFICATION NO. 73197

©1989 Hi-Shear Corporation



